Тест по теме: «Показательная функция. Показательные уравнения»
	1 вариант

      Вычислить

1) 34,5• 3-3,5
Ответ: а)[image: image2.png]


; б)3; в)38; г) 3-8
2)  34,5: 3-3,5
Ответ: а)[image: image4.png]


; б)3; в)38; г) 3-8
3) (42)
[image: image5.wmf]2
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[image: image6.wmf] 

Ответ: а) 4; б)[image: image8.png]


; в) 0; г) -4
   Решить уравнение

4) 5х=125

Ответ: а)3; б) 25; в)-3; г)5

5) 
[image: image9.wmf]

 EMBED Equation.3  [image: image10.wmf]125
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Ответ: а)3; б) 25; в)-3; г)5

6) 72х=1

Ответ: а)  8; б) 7; в)0; г)[image: image12.png]




	2 вариант

      Вычислить

1) 3-4,5• 33,5
Ответ: а)[image: image14.png]


; б)3; в)38; г) 3-8
2)  3-4,5: 33,5
     Ответ: а)[image: image16.png]


; б)3; в)38; г) 3-8
3) (42)
[image: image17.wmf]2
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[image: image18.wmf] 

Ответ: а) 4; б)[image: image20.png]


; в) 0; г) -4

   Решить уравнение

4) 5х=[image: image22.png]



Ответ: а)3; б) 25; в)-3; г)5

5)
[image: image23.wmf]

 EMBED Equation.3  [image: image24.wmf]125
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Ответ: а)3; б) 25; в)-3; г)5

6)82х=1

Ответ: а)  8; б) 7; в)0; г)[image: image26.png]
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